



名前: \_\_\_\_\_

日にち: \_\_\_\_\_ スコア: \_\_\_\_\_

$$\left(-\frac{1}{6}\right)^{(-1)} + \frac{1}{4} =$$

$$\left(\frac{1}{2}\right)^{(-2)} - \frac{1}{5} =$$

$$\left(\frac{3}{5}\right)^{(-1)} - \frac{1}{2} =$$

$$\left(-\frac{3}{5}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{2}\right)^0 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{2}{5}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{3}\right)^{(-2)} - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{4}\right)^{(-1)} - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{2}{5}\right) + \frac{3}{5} =$$

$$\left(\frac{1}{3}\right)^{(-2)} + \frac{1}{3} =$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{4}\right)^{(-2)} + \frac{1}{5} =$$

$$\left(\frac{3}{4}\right)^2 - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{4} =$$

$$\left(\frac{1}{5}\right)^{(-2)} + \frac{1}{5} =$$

$$\left(-\frac{1}{5}\right)^2 - \frac{1}{3} =$$

$$\left(\frac{1}{3}\right)^{(-2)} - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{4}\right)^2 - \frac{1}{4} =$$

$$\left(\frac{3}{4}\right)^{(-1)} + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{3}{5}\right) =$$



名前: \_\_\_\_\_

日にち: \_\_\_\_\_ スコア: \_\_\_\_\_

$$\left(-\frac{1}{6}\right)^{(-1)} + \frac{1}{4} = \left(-\frac{23}{4}\right) = \left(-5\frac{3}{4}\right)$$

$$\left(\frac{1}{2}\right)^{(-2)} - \frac{1}{5} = \frac{19}{5} = 3\frac{4}{5}$$

$$\left(\frac{3}{5}\right)^{(-1)} - \frac{1}{2} = \frac{7}{6} = 1\frac{1}{6}$$

$$\left(-\frac{3}{5}\right) + \left(-\frac{1}{2}\right) = \left(-\frac{11}{10}\right) = \left(-1\frac{1}{10}\right)$$

$$\left(\frac{1}{2}\right)^0 + \left(-\frac{1}{3}\right) = \frac{2}{3}$$

$$\left(-\frac{2}{5}\right)^2 - \left(-\frac{1}{2}\right) = \frac{33}{50}$$

$$\left(-\frac{1}{3}\right)^{(-2)} - \left(-\frac{3}{4}\right) = \frac{39}{4} = 9\frac{3}{4}$$

$$\left(-\frac{1}{4}\right)^{(-1)} - \left(-\frac{3}{5}\right) = \left(-\frac{17}{5}\right) = \left(-3\frac{2}{5}\right)$$

$$\left(\frac{2}{5}\right) + \frac{3}{5} = 1$$

$$\left(\frac{1}{3}\right)^{(-2)} + \frac{1}{3} = \frac{28}{3} = 9\frac{1}{3}$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{1}{4}\right) = \left(-\frac{2}{9}\right)$$

$$\left(-\frac{1}{4}\right)^{(-2)} + \frac{1}{5} = \frac{81}{5} = 16\frac{1}{5}$$

$$\left(\frac{3}{4}\right)^2 - \left(-\frac{2}{5}\right) = \frac{77}{80}$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{4} = 0$$

$$\left(\frac{1}{5}\right)^{(-2)} + \frac{1}{5} = \frac{126}{5} = 25\frac{1}{5}$$

$$\left(-\frac{1}{5}\right)^2 - \frac{1}{3} = \left(-\frac{22}{75}\right)$$

$$\left(\frac{1}{3}\right)^{(-2)} - \left(-\frac{1}{5}\right) = \frac{46}{5} = 9\frac{1}{5}$$

$$\left(-\frac{1}{4}\right)^2 - \frac{1}{4} = \left(-\frac{3}{16}\right)$$

$$\left(\frac{3}{4}\right)^{(-1)} + \left(-\frac{1}{3}\right) = 1$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{3}{5}\right) = \left(-\frac{7}{20}\right)$$